&% 201645287 o it e
X H F2R7H F68EAL AL R
e rE AVS A
=5 BT SO RAE
Gk 3!
Q5 @ O w4
HDN
HDN ® ZlIRTEE R @ FEA
QM F=11 @
FEA
P8 HEE = m#TH
E % Q8 @ @8 a o8
£ X
HRERTYa1—IL
BHOREERE | SR THE| F—L% (A1) 237 F—L%&(A2) =¥
AD| 9:00 9:45 ok dig== 2 — 1 HDN FEEA E %
A®| 1000 10:45 FEHA 7 — 0 = & | HDA
A A
AB®| 11:00 11:45 HDA 3 — 0 oo2s Ok 2L
A A
A@®| 12:00 12:45 T | 0o — 2 EEA 2 Gf

AR REDHAEN L2057 RICHIR(EREDATREMESHY)

2016/2/8
YERL/ B

(=

B



&% 20164287 ~ P P
RieH F2R7H F68E R AL R
e rE EVSR
215 BT SURBE
m#FTHEA
D& @ O B
HDNR
|@ HHEA ® SHREH R @ BHA
B =11 TE
VEDY
z
8 HEIE 1€
|© vEDY 28] @ 2% ft = @8
Tt E
HEXTTa—IL
BHIRRER | 8 THERE| F—L4% (A1) 237 F— L& (A2) =3
0 — 0
BM| 9:00 9:35 m#FTHEA HDN VEDHLY it E
3 PK 4
B®@| 9:50 10:25 VEDY b it E m#FTEA HDN
2 PK 3
T ~
B®| 1040 | 11:15 B EA 1 — 0 DEDY O @R
B B
B@| 11:30 12:05 HDAN 3 — 2 it E ©f ©f

AL REOHEN200RICHIR(EEDRAEEHY)

2016/2/8
YERL/ B

12

R



ey 20164287 ~ PR o
RiEH F2A7H $68E R FTAL R
9S54 CUSR
=15 HIET S5 RCHE
= B
resvrm = ®
O] O) O
VEHLYZO—)L
7t 37 E @ Z=fRTEE R @ E
QM F=11 @
1 7 H
= Fl
Q& HEHE L] P = B
VEHYTO—IL 28] @ Q5 O
* &
HERTDa—)L
BHOREERE | SR THE| F—L% (A1) 237 F—L%&(A2) =¥
c@®| 9:00 9:45 = 3 — 2| vFEHLYTZO—L m#TH =
c®| 1000 10:45 7l 7 H 1 — 3 % & = vEHYT7a—)L
c®| 1100 | 1145 | vEbyzo—n | F T ¢ T H COm COm
2 PK 4
C C
C@®| 12:00 12:45 = 0 — 4 % & R R

AR REDHAEN L2057 RICHIR(EREDATREMESHY)

2016/2/8
YERL/ B

(=

B



